
Friday 8th January 2021 
L.O: I am getting better at using the ‘x’ multiplication symbol in a sentence. 
 
 
 
 
 
 
 
 
 
 
 
 

There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 6 
 
_______ x _______ = 6 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 14 
 
_______ x _______ = 14 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 

There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 10 
 
_______ x _______ = 10 
 
 
 
 
 
 
 
 

 
 

There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 8 
 
_______ x _______ = 8 
 
 
 
 
 
 
 
 
 

 
There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 4 
 
_______ x _______ = 4 
 



 
 
 
 

 
 
 
There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 18 
 
_______ x _______ = 18 
 
 
 
 
 
 
 
 

 
 
There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 12 
 
_______ x _______ = 12 
 
 
 
 
 
 

 
 
 
There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 16 
 
_______ x _______ = 16 
 



 
 
 
 
 
 
 
 

There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 2 
 
_______ x _______ = 2 
 
 
 
 
 
 
 
 
 

 
 
There are _______ equal groups with _______ in each group. 
 
_______ + _______ = 20 
 
_______ x _______ = 20 
  



Extension 
 
 

1. 2 + 2 = 4    2 x _____ = 4 
 
 

 
2. 8 + 8 = ____   8 x _____ = ______ 

 
 

 
3. 7 + ____ = 14   ___ x 2 = _______ 

 

 
 
4. 3 + 3 = ______   3 x _____ = 9 

 
 

 
5. 9 + ____ = 18   9 x _____ = _____ 

 
 

 
6. 5 + 5 = _______  2 x ______ = 10 

 

 
 
7. 1 + 1 = _______  1 x 1 = ________ 

 
 

 
8. 4 + _____ = 8   4 x _____ = ______ 

 
 

 
9. 6 + _______ = 12  2 x _______ = 12 

 
 
 

10. 10 + 10 = _________ 10 x ______ = _________ 



11. 6 + 6 = 12   ______ x ________ = 12 
 
 
 

12. 8 + 8 = 16   16 = ________ x 8 
 
 
 

13. ____ + _____ = 8  2 x ______ = 8 
 
 
 

14. _____ + 3 = 6   6 = 3 x ______ 
 
 
 

15. 7 + 7 = 14   _____ x_____ = 14 
 
 
 

16. 2+2 = _____   _____ x _____ = 4 
 
 
 

17. 1 + 1 = _____    _____ x 2 = ______ 
 
 
 

18. 3 + 3 = ______   _____ x ______ = 9 
 
 
 
19. 5 + 5 = ______   2 x ________ = 10 

 
 
 
20. 9 + 9 = _______  18 = _______ x _________ 

 


